PAPER-II
POPULATION STUDIES

Signature and Name of Invigilator
1. (Signature)

OMR Sheet NO. & ooooeeeeeeeeeeeeee e

(Name) (To be filled by the Candidate)
2. (Signature) Roll No.
(Name) (In figures as per admission card)
Roll No.
Bl 1 CHE
Time : 1/, hours] [Maximum Marks : 100
Number of Pages in this Booklet : 16 Number of Questions in this Booklet : 50
Instructions for the Candidates et & fag e
1. Write your roll number in the space provided on the top of | 1. T I &% FW a0 M W 301 I TR fAf@g |
this page. 2. T U0 H Uu Sgfasheda ued €
2. This paper consists of fifty multiple-choice type of | 3. wfen wow g W, weA-qRa® MO ¥ & SR | TEe

questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off

the paper seal / polythene bag on the booklet. Do not
accept a booklet without sticker-seal / without
polythene bag and do not accept an open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B),
(C)and (D). You have to darken the circle as indicated below
on the correct response against each item.

Example : (&) ® O

where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper | Booklet only. If you mark
atany place other than in the circle in the OMR Sheet, it will
not be evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

9. You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry duplicate copy of OMR Sheet on
conclusion of examination.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is no negative marks for incorrect answers.

0 N o

~

10.
11.

12.

UrE A Ul TGRSR Tie a1 S9! FETead

St & ToTg f52 ST, fS/ent St e 31aee et ©

(i) TA-9RTHT Wi & feTT GReshT IR o STt St et /
et 9 B Be o | Getl g8 A1 fo L /
fom aiferel o @GR Wi T FY |

(i) ®a¥ g ¥ 3¢ FREIER U=-giast & g qur
mgmaﬁaﬁmﬁmmﬁéﬁ{%
T | et giwer T ge/me w91 gEwT e
T E A Hikae § 7 g oy e ot yew @
sfequt gt EieR 7w @ s@ wHa @
THeTFT I T W e T TR @ o |
9% T ot diw feme i3 S | Sue A A
A MU JIA-RAT T o TR AR T @ stmue
sfafte qua fear s |

(iil) T Sirar & 91 OMR U5 i HH G 3T T9-JReeht
W 3T W |

T U9 o fefT IR SR faehed (A), (B), (C) 91 (D) &&

T E | I TE ST F I Bl U W WAL HeAT FET §

St o A fewmar @ E o

T/ : (B) @ O =@ wWswe |

Tl % IR hael U U | % <Y {4 T OMR w56 a8
3ifehd A € | A5 3T OMR % W f§3 T3 97 % 37T
zﬁ;ﬂwwwwﬁwmaﬂﬁ%,aﬁmm
|
=Y {67 T RN @ AmYEE uE |
=T B (Rough Work) 30 qReht & 311 g8 W &Y |
g 3T OMR & WX a0 ©IF & 3Tt 310 9, Jet
TR, T TR A1 g o tEr e fed et veae &
Toh, 3ifhT FA & ST STIF W T VAT H &, AT B
3T I T B VAN RS &, O Wl & o e
=it fopd ST @b & |
TTYeRT TRIET T & W oI OMR T R8Tk Weisd s
TACHT MEvg & SR T T & o5 39 7 T
TRIET I ¥ ST T o ST | BT 31T Ui i o
OMR T ! gilche Ufd 370 19 of ST Tohet € |
FaeT Hel/BA aTel ETEE U7 BT 81 QT B |
foret oft UPR T HWUTE (FAFALY) AT ATT A A B
warT afead & 1
T IR & 1T HIE 37k HIE Al S |

J-15-13

P.T.O.



POPULATION STUDIES
Paper — 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)
marks. All questions are compulsory.

When Sample Registration System
(SRS) was initiated on pilot basis by
the Registrar General of India ?

7.

Match List — I with List — Il with
regard to development activities and
major impact on environment :

List—1 List— 11
(A) 1962-63 (B) 1963-64 a. Deforesting i. Extinction of
(C) 1964-65 (D) 1965-66 and land rare species of

During which Census information on

resettlement flora and fauna,

: . creation of
Male age at marriage was introduced condition for
in India ? mosquitos
(A) 1981 (B) 1991 breeding
(C) 2001 (D) 2011 leading to
infectious

Which of the following country
conducts Census at 5 years interval ?

diseas_es such as
malaria, dengue

: ) etc.

(A) Umte;l Kingdom b. Use of ii. The pesticide
(B) Canada pesticide used in

(C) India agriculture

(D) Pakistan

Which data among the following is
collected through Model Registration
System ?

(A) Marriages

sometimes go
into food chain
or in water
bodies and as
such results in
harmful health

hazards
(B) Cguses of death c. Timber iii. Degrades land,
(C) Births Extraction destroy surface
(D) Deaths soil, reduces
Which among the following is used Bg?g#ﬁ;',ogf

for estimating Exponential Growth of
Population ?
(A) P(1)=P(0){1+e"}

future forests
d. Urbanization iv. Concentration
and of population in

t Industrializa- urban centres,
(B) P()=PO){1+r} tion make huge
__P(O) demands on
©) PO =T, production in
_ rural areas and
(D) P(1) =P(0)e" put pressure on
The  concept of  Population Iantd, ar ﬂ”‘tj.
Momentum in Stable Population water pofiution
X Codes :
Model was derived by a b ¢ d
(A) Alfred Lotka (A) i i i v
(B) John Graunt (B) i i v
(C) Nathan Keyfitz (C) i v 0
(D) CoxP.R. (D) iv i I ii
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SHEEAT I
wvaT — |1

W =9 T H Te (50) TE-Taedd W € | Uk WY At (2) ST | @t Ie st ead € |

frfefad 5 9 fog sraty & SRE, ara
% TR SR gR Amet A
feg/yoell TE.ARTE  H WA
MR TR YR e o 2

(A) 1962-63 (B) 1963-64
(C) 1964-65 (D) 1965-66

TRA H {hd ST 9 foee & 999 o
S Bl Y W G UHHd HA H

I[H3T St T 2
(A) 1981 (B) 1991
(C) 2001 (D) 2011

fraffaa & @ 9 W /W 5 W &
ST Y STAIOTAT hddTdl % ?

(A) TS TohTeH

(B) ATST

(C) wmd

(D) uIfREA

Afed ILIE TR & Wew o
f=fefad & @ & 9 27ihe Thid oy
ST € 2

(A) foare

(C) s

(B) g F
(D) 79
SHEEAT o WREM gk HOeE | gd
YA fea ST € 2
(A) P(1)=P(0){1+e"}
(B) P(1)=P(O){1+1}*

P(0
© PW=1k
(D) P(1) = P(0)e"
fer SAuen dfaey (Rad  9igereH
ueed) & FAT SHGAT H TeheuT
T | T TR &l 2
(A) STERS TAH
(B) S U
(C) e hiftpest
(D) IeT UY. 3R,
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gl-| wa gl-11 | foehrg w@t v 396
FTATERTT 9T 7T 1 THeAT Y

=i - | =it - 11
a. ST i Ug U @ T
T wd 9 SiiaEr w6
ST foeT 2,
TSR T Tl
e TARET Te
N AT
b. wleeER 1 ji. Wl § gI
T IS Tt
EXRCICICIeG)
T S Erar |
a9 Y
TR SRT T
o & |
c. forar 3T iii. SN ® S
wiferT =Bt &
FT qioeT T
STt o ferepr
T famia e )
d. YEOHOTTE v, e H SHE@
1 S S
Tifel | SeaTgehdl
Te I Bl
S W IS
AR A T
TSR] YT
TEATE |

a b c d
(A) i ii i v
(B) i i ivi
(C) i v i i
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10.

11.

12.

Choose the correct combination
among the following with regard to
the Millennium Development Goals
and indicators for  monitoring
progress :

(A) 5 goals and 20 indicators

(B) 6 goals and 25 indicators

(C) 7 goals and 30 indicators

(D) 8 goals and 48 indicators

What is the shape of the graph of
human population growth to the
present resembles ?

(A) ‘U’ shaped curve

(B) “J’ shaped curve

(C) “S’ shaped curve

(D) Horizontal curve

Assertion (A) Population is
growing at a faster rate than the
world’s ability to produce food.

Reason (R) : Growth rate of some
countries is very high.

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Which of the following is measured
by using Lexis diagram ?

(A) Migration (B) Nuptiality
(C) Fertility (D) Mortality

Which among the following is not

provided by the Sample Registration

System at the national and sub-

national levels ?

(A) Reliable annual estimates of
birth rate.

(B) Reliable annual estimates of
death rates.

(C) Other fertility and mortality
indicators.

(D) Reliable estimates of births
averted.
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13.

14.

15.

16.

Open birth intervals are likely to be :

(A) longer than closed birth
intervals.

(B) shorter than closed birth
intervals.

(C) about same length as closed
birth intervals

(D) Nothing can be said with
certainty

Which of the following gives the
probability of women giving birth to
a child when she already had a
certain number of children ?

(A) Total fertility rate

(B) Parity progression ratio

(C) Gross reproduction rate

(D) Completed fertility rate

The Reproduction Survival Ratio is

(A) The ratio of Gross
Reproduction Rate (GRR) to
Net Reproduction Rate (NRR).

(B) The ratio of Gross
Reproduction Rate (GRR) to
Total Fertility Rate (TFR).

(C) The ratio of Net Reproduction
Rate (NRR) to  Gross
Reproduction Rate (GRR).

(D) The Ratio of Gross
Reproduction Rate (GRR) to
Total Fertility rate (TFR).

Match the population projection
technique in List — I with its details
in List — 11 given below :

Lis—1 List— 11

a. Arithmetic i. t+5 t
Growth 5Py +5 = 5Py 55K
Method

b. Geometric ii. P =P_(1+r1)!
Growth
Method

c. Logistic  iii. p,=P_(1+1t
Growth =P (1+1)
method

d. Component iv. k
Method t= 1 + atht

Where Sx is survival rate.
r is rate of population growth

tis time
Codes :
a b c d
(A) i i i v
(B) ii i iv i
(C) iv i i i
(D) i i iv i
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10.

11.

12.

TEEE! faehg el Ta 3 ST
Teheehl Tt TEl T B = ° | g
H

(A) 5 T 3T 20 Fehash

(B) 6 W& 31X 25 TWehalsh

(C) 7 o 3 30 Tehel®h

(D) 8 T 3 48 Tehcldh

Ae SHEE ghg % U A IR
frfefad & & ferad foerar S & 2
(A) ‘U’ TSR = a5k

(B) ‘J’ TR & a5k

(C) *S’ 3MHR Hl Th

(D) &ifest s

afirped (A)  SHIEET H T fove
H @EFl & SART H qerr o
ArF T A TE E/E |

FRO(R) P M H SR
Jig 1 T FIHN AF & |

(A) (A) 3R (R) I Tl € 3R (A)
T el TR (R) |

(B) (A) 3R (R) =i wel € o (A)
T FE TERT (R) 7R € |

(C) (A) g, fFg(R) ™€ |

(D) (A) Tor &, fh=] (R) W&l & |

feffiaa o 9 fhd wfemd am@ gm0
AT ST & 2
(A) vosH
(C) wSHA

(B) dategskar
(D) gg-gE

frafafea @ @ =1 dwe ToRvE
foer gRT U a9l SU-UEE &R T
SUCTSY &l TohaT ST & 2
(A) ST ST o favaer afves SAm
(B) 9 R & favagHa i 1AM
(C) VA T 9o Wl 3T qah
(D) == & S H TR H
favaea s mm
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13.

14.

15.

16.

GAT ST Sl FHer:

(A) IS ARTA F STl € |

(B) &% SFH HRTA ¥ BT eI & |

(C) &% 9 I & T SR
BT |

(D) =9 fawa & 5 off & @ o
THAT & |

T TS UE & FS aedl B W 7

T & 3T FRT Th 3T e Bl T

T H WEFaT AEeEd § ¥ e

TR & 2

(A) el USTHAT i T

(B) W W ST

(C) TFATSTH X

(D) HHR AT YOT USTHT 5T

TST ST ST ¢

(A) o ¥SFH ST (NRR) ¥ F&at
TS Y (GRR) T ST

(B) T USHAAT X (TFR) ¥ THet
TS X (GRR) T S

(C) ¥$Ha WA I (GRR) ¥ Maat
TS &% (NRR) ST SO

(D) ¥HA W T (GRR) & FoA
ISTT §X (TFR) 3T 3T

G-l H SEE Uel AiareRt (dqeien)

& gll-11 53 7 fereror At @ e

H

et - | it - 11
a sEEatE i 45t
5PX+5 = 5PX-5SX

JOTTeAT
b. TR FE ii. P =Py (L+r)
JOTTAT

c. T TR i P =Py (1+1Y)
ghg ot

d. = TR iv. k
Pt:1+ea+bt

Sx ; Sfifad @ &t 3T
r: SHEET ghg T
.99
HT

a b Cc d
L
B) i m v
(C) iv i i i
(D) i i [\
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17.

18.

19.

Which of the following is not

correctly matched ?

(A) Demographic  — Notistein
Transition

(B) Fertility — Caldwell
Transition

(C) Health — McKeowen
Transition

(D) Epidemiological — Omran
Transition

Match List — | with List =11 :
List — | List - 11

a. UN i. W
Model life 209=| " -10

table
b. Coale and ii. 159 =by(x) +b,(x)
Demeney Ian + bZ(X) InQZ
c. Liederman iii. Logit (P)=0.51
(P/(1.0-P))

d. Brass iv. Logit (ndx) =
Logit c . C

’ Uok izt Ui

Codes :
a b c d

(A) iv i ii iii

(B) i ii i v

C) ii i iv

(D) i i iv i

Assertion (A) : Life Table provides
mortality history of a cohort of
population.

Reason (R) : Age specific Fertility
Rate is the basic requirement
for the construction of a life
table.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not correct .

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Paper-I1

20.

21.

22.

23.

Which among the following is not

health and demographic indicator ?

(A) Life expectancy at birth.

(B) Percentage of children who are
under weight.

(C) Maternal Mortality Ratio.

(D) Percentage population living
below poverty line.

Match List- | with List =11 :

List—1 List— 11
a. Optimum i. Sidwick
Population
Theory
b. Theory of ii. Kingslay
Change and Davis
Response

c. Big Push Theory iii. Rosenstein
d. Critical Minimum iv. Leibenstein
Thesis

Codes :

a b c d
(A) i i iv i
(B) i ii i v
(C) i v i i
(D) iv i i iii

For which combination of disease

specific strategies are implemented

by the government ?

(A) Malaria and Dengue

(B) TBandHIV

(C) Cancer and Cardiovascular
Disease

(D) STDs & HIV

Assertion (A) : Nearly 67 percent
births among Scheduled Caste
women in India are delivered at
home.

Reason (R) : Institutional births are
expensive and often socio-
cultural norms and disparities
act as barriers to accessing
institutional care.

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

J-15-13



17.

18.

19.

Tt & 9 9 91 el Gaferd el & 2
(A) STHifRHE aRedT — Fifew

(B) USTHAAT aREd — FHesae

(C) woreg uRad — Age

(D) e e Tt — S

ga-1 ot g1-11 3 |0 gaferd
=it - 11

2 :[nQanW]—l.o
i1 59 =by(x) +by(x)

1,Q; + b,(¥) 1,Q,
c. ieXA T iii. Logit (P)=

051_(P/(1.0-P))
d. SIS iv. Logit (n9) =

z a

C i c
Uok+i=l UlX

o

(A v i i i
B) i i i v
©) i i i v
O) Qi i v i

Afpe= (A) : STad IRl SHEE
% HIETS N o (e & Ll
T

HRT (R) : STee TRl & fator
* fod omg fofre wom
TR TSI ¢ |

(A) (A) 3R (R) 3H 9 € 31K (R),
(A) it TE AT T |

(B) (A) 3R (R) 3Hi ¥ & = (R),
(A) Ft T AT T E |

(C) (A) T@ T, W< (R) 3T ¥ |
(D) (A) 3\ §, R (R) TF € |
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20.

21.

22.

23.

= 0 8 ®F @WF vd S
gahish TE & ?

(A) ST % T9F W H T

(B) &Y I % T=Al T UTAeT

(C) =g 7q
(D) RIS I 3@ &% Y STHEET

AT
g-1 wa g1t e =

=t - | = - 1
a. 3= i. Tasfas
S
s
b. ma@wE i, fohEe AW
TR fasta
c. ITETEE  ii. AR
s
d. =9 Hifae iv. e
s
FHT
a b c d
(A i i v i
B) i Qi i v
€) i v i i
(D) iv i i iii
HE G I UgE SEREr & WER A
faferee =T =it @] 61 & 2
(A) weE w3y
(B) <t wd wH I ot
(C) R UF &R

(D) A I I U w3 A

AMMHUT (A) A ST
AfEeaT § 67% W9 =R H R § |

HROT(R) ST TS HE el
forerem e = €

(A) (A) 3T (R) 3HT Tl & 3R (A)
T TEl T (R) |

(B) (A) 3R (R) 3 W&l & o (A)
T el TR (R) T € |

(C) (A) Wl &, W (R) Tod & |

(D) (A) Tod &, g (R) W&l & |
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24. Thomas Mckeowen studied the
relationship between morbidity and
inventions of vaccines and suggested
(A) Population decline will be

evident due to illness and
disease.

(B) Decline in tuberculosis was
evident before BCG vaccine
was invented.

(C) Morbidity reduces with
medical interventions.

(D) llness is associated with socio-
economic status.

25.  Which one of the following names is
associated with migration theories ?
(A) Malthus
(B) Caldwell
(C) Ravenstein
(D) Chandrashekharan

26.  Which one is not a Migration Model ?
(A) Shep’s Model
(B) Todaro’s Model
(C) Cost-Benefit Model
(D) Stouffer’s Model

27. Crude death rate in Country | and Il
are given below for specific areas of
two countries. Select the right answer :

Areas Country | Country
[ 1
Metropolitan 15 14
area
Small town 17 15
Rural areas 30 29

The Crude Death Rate is :

(A) Definitely less in Country |
than Country I1.

(B) Definitely more in Country |
than Country I1.

(C) Probability higher in Country |
than Country Il but reverse is
possible.

(D) Probability higher in Country Il
than country I, but reverse is
possible.

Paper-I1

28.

29.

30.

What is the type of growth proposed
by Malthus for population and food
production ?

(A) Fractionally and Progressively
(B) Instages, based on percentage
(C) Arithmetically and exponentially
(D) Geometrically and arithmetically

Match from List — | and List — 11 :

List -1 List— 11
a. World No i. 31" May
Tobacco Day
b. International ii. 11" October
Day of the Girl
Child
c. International iii. 17" October
Day for
Eradication of
Poverty
d. World AIDS iv. 1% December
Day
Codes :
a b c d
(A) i ii i v
(B) ii i v
(C) i i i iv
(D) iv i i i

Assertion (A) : Energy shortage is
due to unwillingness of
multinational corporations to
develop alternative energy
sources.

Reason (R) : Multinational
Corporations will loose
monopoly over fossil fuels.

(A) Both (A) and (R) are true, (R)
is the correct explanation of
(A).

(B) Both (A) and (R) are true, (R)
is not the correct explanation of
(A).

(C) (A)istrue, (R) is false.

(D) (A)is false, (R) is true.
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24. ofm HE T SR T8 A H @S F

e Heel Hr TeEH fwar i g

T

(A) ITEEAT Ud §HR &l acle d
ST | T Bl |

(B) «Ff &t St 3 & o * Ut
it o S A HE g |

(C) Taferear glaemstt & g SRt
o AT gl € |

(D) ST, WIS Ud I TR
Y Fefyd & |

25. TAfied # 9 fREeT AW Yo &
fogia @ wwafa @1 & 2
(A) Hed (B) o
(C) =M (D) =HIEHA
26. oIS HiSel i 1 TET € 2
(A) 3T H HEA
(B) ISR & HISA
(C) INTd-oTY Higet
(D) T H HISA
27. Frefared & I@ ® faRme &=
3TN Jog 3T A1 < gt & | FAT et
SR HT T HE |
AT & | M0 | [
TR &5 | 15 | 14
BT I 17 | 15
ITHOT &7 30 | 29
Wﬁﬁlﬁﬂ?ﬂﬁ'{':
(A) Tfead dX o 3901 § 90 11 i
TAMTH FAE |
(B) Tfvea aR @ 391 1 | <97 11 I
T 1 3t & |
(C) =11 H M B qorT H FTeT
fyw & Wik Tod fawid o
T |
(D) =TI H 1 B o H G
aMysh € oAl THepl famdia o
Y |
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28.

29.

30.

U SR @R 3R % AU Ao
J T UhR i gieg 1w T o 9

(A) 3T o AT TS €9 F |
(B) wfeera R 3menfia staeernen |
(C) TifoTdiT ¥ & 31X =i ©9 F |
(D) ST &Y ¥ 3 T &9 |

gl-| & gA-11 1 e 1

=t - | =t - 11
a. fawmaars i 31" W
TR TSar
b, fove afersr i 11" SR
e

c. fawmmdet i, 13" s
e feaw
d fawawgg v, 1" fT@=x

FT:

a b c d
(A) i i i v
(B) ii v
(C) i i i iv
(D) iv i i i

Ao (A) - TG FHFE A
AehicTsh Sotl o Bl & e &q
TR & ™E & HROT 3o1
H BT |

FHRT (R) . T HEEE
qioeg H SRy 39 T USSR
T & ST |

(A) (A) 3R (R) 3T &l € 3 (R)
(A) T TEl LT & |

(B) (A)W(R)ﬁﬂﬁ%om (R)
(A) T TE TR TET ¢ |

(C) (A) T e, g (R) o € |
(D) (A) TR (R)TEIT |
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31.

32.

33.

Match List — I with List =11 :

List—1 List— 11
a. Permanent i. Rises
Income opportunity
Hypothesis costs of leisure
b. Theory of ii. Consumption
diminishing and savings
marginal depend on the
returns expected income

over life span
than present

income
c. Income and iii. Link between
substitution population
effect density and
productivity

d. Discouraged iv. Workers leave

worker labour force
hypothesis
Codes :
a b c d
(A) i ii i v
(B) i i i iv
(C) ii i i iv
(D) iv i i i

Assertion (A) : Our environment is
gradually changing.

Reason (R) : It is mainly due to
burning of fossil fuel.

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct
and (R) is not the correct
answer of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false and (R) is true.

Assertion(A) : Assisted Reproductive
Technology (ART) is important
in addressing the issues related
to infertility.

Reason (R) : Infertility affects a
comparatively smaller proportion
of population and ART makes
women vulnerable to exploitation
by service providers.

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct
but (R) is not the correct
explanation of (A).

(C) (A)istrue and (R) is false.

(D) (A)is false and (R) is true.
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34.

35.

36.

37.

Assertion (A) : Women empowerment
has remained slow in India
despite economic and social
development in the country.

Reason (R) Women lacks
representation in education,
jobs and other spheres of life.

(A) Both (A) and (R) are true, and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not correct explanation
of (A).

(C) (A) istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Which among the following indicator
is not used while computing Physical
Quality of Life Index (PQLI) ?

(A) Infant mortality

(B) Life Expectancy (at age one)
(C) Basic literacy

(D) Per Capita Income

Assertion (A) : Global Warming is
being experienced in the world
at present.

Reason (R) : Green House effect is
increasing.

(A) Both (A) and (R) are true and
(R) is the correct explanation.

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation.

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Which of the following is not
included for the calculation of
Human Development Index ?

(A) Longevity
(B) Education
(C) Income
(D) Housing
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32.
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(A) (A) 3R (R) sHi W@l € 3R (R),
(A) i &l AT E |

(B) (A) ¥R (R) sHi W@l € 3R (R),
(A) Tl TEl =T T €

(C) (A)TTE W< (R) AT |

(D) (A) 3T E, " (R) TAE |

afrmem (A) ;P MR
qhIh, ST D TAET FHTHH
¥ I AR T |

HROT (R) . Ferdr @ 9 SO |
Afectd wfad gt § 3 369
TeRTeT 5T Hieenstt o wmeor
! TS 9 S §

(A) (A) T (R) 3HI @&l ¢ 3R (R)
(A) T & TEHT 7 |

(B) (A)W(R)ﬁﬂff%%ﬁ@)
(A) T T T e ¢ |

(C) (A) el & 3R (R) Totd & |

(D) (A) 7o € 3R (R) Wl & |

J-15-13

11

34.

35.

36.

37.

Afimem (A) : 9Rd H emfes qen
ST IR g % aee
AfeeTT HHIHOT AT ST T&T |

&HRT (R) . fgenet % fero fre,
Fipal q9r Sied & 3 &5 |
TfafTe T 3 & |

&<

(A) (A) 3R (R) 3l & € 3R (R),
(A) =l TE A |

(B) (A) 3R (R) 3Hi ¥ & = (R),
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(C) (A)FTE W (R) AR |

(D) (A) 3T §, WG (R) TTE |

= ¥ 9 9 a1 Hhas “wfifds Sie
! O & Fehas (PQLI) i TOMT §
TN T e € 2

(A) frag

(B) Siia UeATeT (W A i 37 H)
(C) TiifeTeh TmeRaT

(D) v =t 3

arfirpe (A) : favasmt ST

(eleel STy S UeE See
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(A) ST <l ST

(B) ferem

(C) ™

(D) #H
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38.

39.

40.

‘Chipko  Movement’ is associated
with

(A) Urban Poor

(B) Truck farming

(C) Saving the trees in the forests

(D) Housing in rural areas

Which is not the core strategies of

NRHM ?

(A) Commutisation of programmes

(B) Decentralized Planning and
Flexible Financing

(C) Improved
Capacity

(D) Public Health Cadre Scheme

Management

Match the following programmes
with their objectives :

List—1 List— 11

a. ICDS i. Education of
(Integrated girls
Child
Development
Scheme)

b. ARSH ii. Sexual and
(Adolescent reproductive
Reproduction health of
and Sexual adolescents
Health)

c. UIP iii. Immunisation
(Universal
Immunisation
Program)

d. BSY (Balika iv. Nutrition
Sammriddhi
Yojana)

Codes :

a b c d

(A) v i i

(B) ii i v

C) i v i i

(D) ii i iv il
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41.

42.

43.

44,

Match the List — | describing various
international conferences with the
theme deliberated given in List— 11 :

List— 1| List—11
a. Rome i. Development
Conference is the best
contra
effective
b. Belgrade ii. Fertility
Conference control as
policy issue
for
development
planning
c. Mexico iii. Warning on
Conference Consequences
of population
growth
d. Bucharest iv. Revision of
Conference world
population
plan of action
e. Cairo v. High quality
Conference family
planning
services with
empowerment
of women
Codes :
a b C d e
(A) v iv i ii iii
(B) iv v i i i
(C) i i iv i %
(D) i i i v v

What is the process that promoted
dramatic increase in agricultural
production ?

(A) Bioeconomic revolution

(B) Green revolution

(C) Biotechnical revolution

(D) Greenhouse effect

Identify which one amongst the
following gases is not greenhouse gas ?
(A) Water vapour

(B) Sulpher-di-oxide

(C) Methane

(D) Ozone

According to the Sample Registration
Bulletin December 2011, the infant
mortality of India is
(A) 27
(C) 47

(B) 37
(D) 57
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40.
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41.

42.

43.

44,
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45. Assertion (A) : A person is not poor
if his/her income level is above
the defined poverty line.

Reason (R) : Poverty line is used by
World Bank for international
comparison of poverty.

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct
and (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

46. Match the schemes in List — I with
their agenda in List — Il and select the
right answer :

List—1 List— 11
a. Jan Swasthya i. Forest
Abhiyan conservation
b. Chipko ii. People’s
Andolan health
improvement
c. Pulse-Polio iii. Promotion of
Abhiyan literacy
d. Serve Siksha iv. Polio
Abhiyan eradication
Codes :
a b C d
(A) i i i v
(B) ii i iv i
C) i i v i
(D) ii i i v

Read the table given below and answer the

four questions from 47 to 50 :

Table : Childhood Mortality Rates of
Demographic Characteristics

Demographic | IMR | CMR | U5MR
Characteristics | (per | (per (per
1000) | 1000) 1000)

Child’s sex
Male 56 14 70
Female 58 23 79
Mother’s Age at Birth
<20 77 20 95
20-29 50 16 65
30-39 56 26 81
40-49 72 37 107

Birth Order
1 64 11 75
2 -3 47 16 62
4-6 62 25 86
7 or more 80 39 116
Previous Birth Interval
<2 yrs. 86 32 115
2 yrs. 50 20 69
3 yrs. 30 15 44
4yrs.ormore| 37 9 45
Birth Size
Very small | 129 40 164
Small 62 14 75
Average 49 18 66
or larger
47. According to above table, which sex

48.

49.

50.
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of babies have higher IMR, CMR
and USMR ? Select the correct
answer.

(A) Female

(B) Male

(C) Almost same for both sexes

(D) Not possible to find out

According to above table rank, the
mother’s age in order of lower to
higher IMR, CMR and U5MR. Select
the correct answer :

(A) <20 20-29 30-39 40-49
(B) 20-29 <20 30-39 40-49
(C) 20-29 30-39 40-49 >20
(D) 20-29 30-39 >20 40-49

According to above table, Rank the
birth interval in order of increasing
risk of IMR & U5MR. Select the
correct answer :

(A) 2 3 4 Y.
(B) 3 4 2 <2
(C) 4 3 2 <2
(D) 3 4 <2 2

According to above table, does the

size of new born is proxy indicator

for birth weight. Select the correct

answer :

(A) No

(B) Yes

(C) Can not be said with certainty.

(D) Require more data for
conclusion.
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45.

46.
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S A
1 64 11 75
2-3 47 16 62
4-6 62 25 86
71 3| 80 39 116
e S 3RIA

<299 86 32 115
2 &y 50 20 69
3Ty 30 15 44
4 99 7 3R 37 9 45

TSI T 3R

Igd BT 129 40 164
BleT 62 14 75
Awa AT | 49 18 66
47. IR AR & AR, FR] wd o
Tog ST RO 3Ty € 2 el 3 R A -
(A) =R
(B) dmetR
(C) sMi#
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49.

50.
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Al Bl FATH g ATHAT gF R F
SHATER Wel SR T

(A) <20 20-29 30-39 40-49
(B) 20-29 <20 30-39 40-49
(C) 20-29 30-39 40-49 >20

(D) 20-29 30-39 >20 40-49
ST ATl § S SRl Sl Adq
e ST R T8 o7 9 & T &
I g SHAMER Tl I I
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